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o AN EH|l=H 200, 000& *2CH*23| 800
o Xl Hlx=H 200, 000& *x9CH 1,800
odllgadl 9=zJ|7 %2 150,000 x5 750
oSt BAHA HH|4=2| 200,000& =2CH 400
o=2clXlE Hdl&H 200,000& x4 800
ostetolE2 D3 %2 200,000& 25 400
o YatHe|A HHl=H 200,000& x108 2,000
o ZAAFH| %2l 200,000& x10= 2,000
o BAHXIA o/ &H| =& 300,000 =110 A 3,300
o BAHXA HE2dHLY WA %2
100, 000& *11JH A~ 1,100
oL QIAAUSAHEE 2= IIF =2
50,000& *10CH 500
oBHA HArZZ 2,4663 1,412 3,482
o BAHXIA 1104 2el
2,799 x223m 11 A 6,866
O XH&H| 26,981

_27_




M BAA
M HZy2IIH(EAL)
el J123| (&9 :&d)
- _ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ‘Oﬁ,‘\jg‘g BlusZ
o HEEHZ (65685 ,65695 ,79655 , 40665 )
3,799,200 *5CH 18,996
o ZAE(12908) 2,929,000 = 1CH 2,929
o B ALY 2(8487) 2,528,000& =104 2,528
oS XH(16143) 2,528,000 =104 2,528
202 Oddl 156,464 151,764 4,700
01 =LHOYI 156,464 151,764 4,700
OEJuNsE & SR S 22 ohl
12,700,000& 12,700
OEHYLR=A 0l 143,764,000 143,764
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